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QUESTION 1

Where may functional testing be performed?

A. At system and acceptance testing levels only.
B. At all test levels.

C. At all levels above integration testing.

D. At the acceptance testing level only.

Correct Answer: B

QUESTION 2

Who would USUALLY perform debugging activities?
A. Developers.

B. Analysts.

C. Testers.

D. Incident Managers.

Correct Answer: A

QUESTION 3
Which of the following is TRUE?

A. Confirmation testing is testing fixes to a set of defects and Regression testing is testing to establish whether any
defects have been introduced as a result of changes.

B. Confirmation testing is testing to establish whether any defects have been introduced as a result of changes and
Regression testing is testing fixes to a set of defects.

C. Confirmation testing and Regression testing are both testing to establish whether any defects have been introduced
as a result of changes

D. Confirmation testing and Regression testing are both testing fixes to a set of defects.

Correct Answer: A

QUESTION 4
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As part of which test process do you determine the exit criteria?
A. Test planning.

B. Evaluating exit criteria and reporting.

C. Test closure.

D. Test control.

Correct Answer: A

QUESTION 5

Given the following decision table:

RULE 1 RULE 2 RULE 3 RULE 4
CONDITIONS
AGE <21 YRS 21-29YRS | 3050 YRS | >50 YRS
INSURANCE [ A A OR B B,CORD |[CORD
CLASS
ACTIONS
EXCESS 25004 2500 § 5004 10004

Which of the following test cases and expected results is VALID?

A. 23 year old in insurance class A Premium is 90 and excess is 2,500.
B. 51 year old in insurance class C Premium is 70 and excess is 500.
C. 31 year old in insurance class B Premium is 90 and excess is 2,500.
D. 43 year old in insurance class C Premium is 70 and excess is 1,000.

Correct Answer: A
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